N = 0 &8 AFH Y & A AN
20229 &= 20l & LBHSIH MIA
SAM: HMAD
Mz HMSAHH (MAED)
chel: Jl= 2| (S &2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
I [IpSpn); 405,234 461,314 56,080
HHSAAY (MED) 41,710 41,710 0
Jl2& bl 41,710 41,710 0
Jl2&Hl 41,710 41,710 0
201 et A | 19,647 19,647 0
01 AFR2t2l Yl 19,647 19,647 0
OJlgss2El 16,877,000 16,877
Odet=gH| 2,770
—JIS2 AR ESH| 30,000%21H 630
—NELR=XN T H4FLHI 20,000+x5& 100
—ABHZ2EFLUI 60,000+12& 720
— A2 4H| 60,000*12& 720
—NEIREsE 10,000x52 «12& 600
202 04| 16,663 16,663 0
01 2LHOHI 16,663 16,663 0
OJl238 =UWo bl 16,663,000 16,663
203 & 2 =&H| 4,200 4,200 0
04 2SI L RF=AH| 4,200 4,200 0
ORANEEYERFAH| 350,000%12& 4,200
204 &2 = ZF H| 1,200 1,200 0
01 M R-HAY| 1,200 1,200 0
ODHE 100,000%12& 1,200
A=THE &8 23 363,524 419,604 A56,080
NgAY S 363,524 419,604 A56,080
FHSENMS 21 9,580 9,580 0
201 et A | 5,980 5,980 0
01 AFR2t2l Yl 5,980 5,980 0
OFSH 202X A 60,000%40 4+ X} 2,400
OS=HFIM(SE) 42D X A 60,000%204¢ Xt 1,200
OS=EHGIM(He) R2DXNMN(RAEERH)
135,000% 104k Xk 13| 1,350
OS=EHGIM(MHe) €8 &2 858
— S5 (L) 66,000% 1200 A~ %13] 792
— 2te 33,000%2H 2 *13] 66
OFSH, SEHGIAN 228 HEX 2
100%1,7200H 172
202 04| 3,600 3,600 0
01 2LHOHI 3,600 3,600 0
OXE M UM XZE & XA 1,950,000 1,950
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SH: HMED
Hu: UFEHY =2 Zst
C

e AgAY S

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OMAMN &8 EE2E(TV) 3,300,000%23| 6,600
OMN 22 SEE(ME)
300,000%57H Al *23] 3,000
ONM&AN 82 EE= 1,980
— 82 (2) 66,000% 140 & %23 1,848
— 2hE 33,000%27H &~ *23] 132
202 04l 5,600 5,600 0
01 = LH YI 5,600 5,600 0
OMLHM(AESE) BHXZE S XXZA
2,800,000 2,800
OMAM(EXNE) BHXZE & XXA
2,800,000 2,800
Hels g2 MHA M3 267,035 323,245 256,210
201 2et2d]| 59,944 70,422 210,478
01 At 2teltl 25,110 26,240 A 1,130
OXgAMY 2 &H 2L 3,200
—AgMaFHE 100,000x202 2,000
— NENYEE 50,000%20& 1,000
— XA BIHAMZH AR e
50,0004 200
O=¢EX 5I18 ¢ 25,000+ 12& 300
OF=)| Xz (MRa, paa)
35,000 12& »2H 840
ogdsE 7 800
—HYZE(U) 1504, 0000H 600
—HHEF (D) 20%10,0000H 200
OHRIINN 258 ESF M
140+15, 000 0H 2,100
OXNENE2E SEEIHM M 1,000,000 1,000
OXZAN Helst g2MHIA S22 M
2,470,000 2,470
OXZEN &8 =2 14,400
— JhaH A & 80%14,0004 x12& 13,440
—AEIE ARS 8 80%1,00024 x12& 960
02 23224 34,834 44,182 A9,348
OX&Al, M= HMISE ARS AlIAE KX
2= 3,828,000+4Z DI 15,312
OJAAHE =HAAE RS>
2,128,000+4Z DI 8,512
OXNZHNIAXNAN SEI B2
135,000+ 1CH = 12& 1,620
OX&AH SLMIOIOIX2EIAAE RXE =
346,500% 128 4,158
OX&A Rel=gI RAE=
218,000x20H x12& 5,232




SH: MR D
Ha: HEWE 2 23
C

Sel NNY B0

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
202 Od4dl 8,664 8,664 0
01 = LHA YI 8,664 8,664 0

O&= NRS2H H&s A 2,590,000 2,590
OXNYME HENs &4 2,340,000 2,340
HEE NEA dituns FA 1,740,000 1,740
OX&gA €2 82 € =d 1,994,000 1,994
203 YR =2t 1,000 0 1,000
03 A=A H 2 =AH| 1,000 0 1,000
OXZAN WAMZEAL R XA A=A
1,000,000 1,000
306 43 21,572 24,992 A 3,420
01 &3 21,572 24,992 A 3,420
OX&gA &HII= &4 21,572,000 21,572
308 A EHSOIA 60,141 58,159 1,982
113/ 2SoHUHSZHEAEALS I 60,141 58,159 1,982
OXNYHNMELESFAY FANE 58,064
—HENLNMEEANAEH 33,409, 000 33,409
— A (SSILHMAIAE) 23,313,000 23,313
— HNSSAAE 1,342,000 1,342
OXHHICH XA HEAAE 24 2,077,000 2,077
403 MtXISHH S =0l & 113,214 159,208 A 45,994
02 S 2SO HEAEE 2 E AL 113,214 159,208 A 45,994
OXAICH XIEN BEAIAE 2= 113,214,000 113,214
405 TtHabF S| 2,500 1,800 700
01 Rt EFH S 2,500 1,800 700
OXNLNSEM 228 2SI 7
2,500,000% *1CH 2,500




